Given: $x+y=\frac{1}{9}, y+z=\frac{2}{9}, z+x=\frac{5}{9}$.
To Find: Find the solution.
Solution: To find the solution of the system, we will try to eliminate one variable using two equations. After getting new equation, solve the new equation with the remaining equation.

$$
\begin{align*}
x+y & =\frac{1}{9} .  \tag{1}\\
y+z & =\frac{2}{9} .  \tag{2}\\
z+x & =\frac{5}{9} . \tag{3}
\end{align*}
$$

First solve equation (1) and (2) to eliminate ' $y$ '

$$
\therefore \quad \begin{aligned}
x+y & =\frac{1}{9} \\
y+z & =\frac{2}{9}
\end{aligned}
$$

On subtraction, we get

$$
\begin{equation*}
x-z=\frac{-1}{9} . \tag{4}
\end{equation*}
$$

Now, solve equation 4 with equation 1 ,
On addition, we get

$$
\begin{aligned}
z+x & =\frac{5}{9} \\
x-z & =\frac{-1}{9} \\
\Rightarrow x= & \frac{2}{9}
\end{aligned} \quad \Rightarrow 2 x=\frac{4}{9}
$$

Put the value of $x$ in equation 1 and 3 , we get

$$
\begin{aligned}
& \frac{2}{9}+y=\frac{1}{9} \quad \Rightarrow y=\frac{1}{9}-\frac{2}{9} \\
& \Rightarrow y=\frac{-1}{9}
\end{aligned}
$$

And $\quad z+\frac{2}{9}=\frac{5}{9}$

$$
\Rightarrow z=\frac{5}{9}-\frac{2}{9}
$$

$$
\Rightarrow z=\frac{3}{9}=\frac{1}{3}
$$

Hence, the solution of the system is $x=\frac{2}{9}, y=\frac{-1}{9}, z=\frac{1}{3}$.

## Answer provided by AssignmentExpert.com

